Restar de Ceros (C)

10000

- 8465

10000

- 9689

10000

-2621

10000

- 8194

10000

-1901

10000

- 261

10000

- 1570

Halle cada diferencia.

10000 10000
- 3536 - 3089
10000 10000
- 469 - 4069
10000 10000
-2706 - 2526
10000 10000
- 2720 - 6947
10000 10000
- 3353 - 5919
10000 10000
- 8008 - 9065
10000 10000
-276 - 6448

10000

- 6004

10000

- 5601

10000

- 3090

10000

- 4898

10000

- 584

10000

- 4024

10000

- 3234
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Restar de Ceros (C) Respuestas

10000

- 8465

1535

10000

- 9689

311

10000

-2621

7379

10000

- 8194

1806

10000

-1901

8099

10000
- 261

9739

10000

- 1570

8430

Halle cada diferencia.

10000 10000
- 3536 - 3089
6464 6911
10000 10000
- 469 - 4069
9531 5931
10000 10000
-2706 - 2526
7294 7474
10000 10000
- 2720 - 6947
7280 3053
10000 10000
- 3353 - 5919
6647 4081
10000 10000
- 8008 - 9065
1992 935
10000 10000
-276 - 6448
9724 3552

10000

- 6004

3996

10000

- 5601

4399

10000

- 3090

6910

10000

- 4898

5102

10000
- 584

9416

10000

- 4024

5976

10000

- 3234

6766
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